3 (Sem-1) ECO
2018

ECONOMICS
( General )-

Full Marks : 60
Time : 3 hours
 The figures in the margin indicate full marks
. Jor the guestions
Answer either in English or in Assamese
1. Answer the following questions : 1x7=7
ware 1l erpres e i -
(a) Define equilibrium.
SIPOR g g |

(b) What is meant by cardinal utility
approach?

AR Torafion e A & 2

() What is Giffen Paradox?
PR Sl i R
(d) What is an expansion 'path?
ITEPTRT 99 qiew ¥ 2
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(2)

() What is meant by economies of scale?
- offier e ot mm e .
) What is bilateral monopoly?
. a s IEE e & 7
(g) What is MRS?
o afoeeme 74 7
2. Answer the following questions : . 2x4=8
| oo eIy T A
(a) Show the distinction between static and
- dynamic equilibrium.
gfoT SIF AR SIPTHA Y (TS |
(b) Mention the two defects of Marshallian
utility analysis.
TR Torcafer Reme 1 #f By w411
(c) What is quasi-rent?
Spe el 12
({d) Show the.distinction between risk and
uncertainty. :
P WF SRPOIOR TS N4 (TS |
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(3)

3. Answer any three of the following questions :

5x3=15
@wsﬁhtﬁﬂmgaiﬁcmmnfﬂ%ﬁa%ﬁaﬁhx.

(a) “Rent is a differential surplus.” Explain
' the statement.

‘e (ZR YIRS Bge 1 SR I
31

(b) What is product differentiation?
IR P T B2

() What is least cost factor combination?
ProN I Beomr (oo WA 2

(d) Show the relationship between Average
" Cost (AC) and Marginal Cost (MC).

T W A AR IR TES [
s Ol ~

(e) Mention the features of perfect compe-
tition.

o efecafene WA CIFRPER T
4. Answer any three of the following questions :

weTe fim a:wpaﬁ e

. (a} What is an indifference curve? Show the
properties of an indifference curve.

e @n R Aes @ gorR -
R oryean |
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'(b) Critically explain the uncertainty
bearing theory of profit.

eY SAFTOIO T TG A tﬂzts
susiES I
(c) Explain stable equilibrium : and unstable
equilibrium with diagrams.
e 729 R wF ¥ SPIH J001 I
(d) How can you derive demand curve from .
the price consumption curve?
a-BereTel (IIR T (I SRR I Tl
7 MR ?

(e) How are wages determined under
perfectly competitive market?

14Wawﬁsﬁmaqﬁﬁ@w
W

() How are price and output determined
‘under monopoly market?

mwﬁmmw%amﬁmq
T :

%* %k %
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